

Page 1 of 1

Florida Department of Transportation



Vendor Ranking

January 27, 2022 11:00 AM Call Order: 005 E6N93-R0 Contract:

06220127 Letting:

Counties: MIAMI-DADE Fed Aid No: N/A District: District 6

Project(s): 44424617201 (*) Contract Time: 365 CALENDAR DAYS

Contract Desc: TREE TRIMMING AND REMOVAL - MIAMI DADE COUNTY

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$133,255.00	100.00%
2	ALEXANDER DESIGN + BUILD, LLC	Responsive	Non-Winning Bid	\$174,125.00	130.67%
3	JEN POWERWASH CORP	Responsive	Non-Winning Bid	\$200,518.80	150.48%
4	T.T.C. ENVIRONMENTAL, INC.	Responsive	Non-Winning Bid	\$220,650.00	165.58%
5	BANNERMAN LANDSCAPING, INC.	Responsive	Non-Winning Bid	\$222,100.00	166.67%
6	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$378,500.00	284.04%
7	SFM LANDSCAPE SERVICES, LLC	Responsive	Non-Winning Bid	\$456,700.00	342.73%
8	KNIGHT PROPERTY MANAGEMENT SERVICE, INC.	Responsive	Non-Winning Bid	\$1,480,875.00	1111.31%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



02/15/2022

Tabulation of Bids

Page 1 of 8

Letting: 06220127 January 27, 2022 **Call Order:** 005 **Contract:** E6N93-R0

District: District 6 Counties: MIAMI-DADE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 44424617201 (*)

Contract Descr: TREE TRIMMING AND REMOVAL - MIAMI DADE COUNTY

Electronic bids are requested for a Business Development Initiative (BDI) / Work Order Driven / Budgetary Ceiling contract to provide labor, equipment, and materials to trim or prune trees and vegetation, remove undesired trees and vegetation, and dispose of resulting debris as directed in work documents in Miami-Dade County. The summary of pay items for this project is listed in the Bid Price Proposal.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each item to be bid. The Department's estimated quantities and the Contractors' bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will based on actual quantities completed. For this Contract in which specific site are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to accomplished, and the number calendar days to complete the work.

BUSINESS DEVELOPMENT INITIATIVE - Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm

For more information about bidding on BDI projects, please see the training guide located at https://cmdp-bgp.com/

Pregualification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Proposal Guaranty of \$500.00 dollars is required for bids over \$150,000.

To submit the Bid Bond, you should use the electronic bond services offered from Surety 2000 or Sure Path Network, available in the proposal electronic file (please remember to click the Bid bond method), or with the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond (Form No. 375-020-09) along with the original or paper bond.

^{****}Award will be made at the Budgetary Ceiling amount of \$225,000.00.





Tabulation of Bids

Page 2 of 8

06220127 Letting: January 27, 2022

Call Order: 005

Contract: E6N93-R0

PERFORMANCE BOND: A Contract / Performance bond is required.

Visit www.bidx.com for more information.

Line No / Item ID Alternation		Quantity Units	(1) T & M LAWN-FENCE SERVICE INC		(2) ALEXANDER DESIGN + BUILD, LLC		(3) JEN POWERWASH CORP	
() indicates item is	bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	(TREE TRIMMI	NG AND REMOVA	L (MH				
0005 E580332 2 TREE REMOVAL (4		5.000 EA	5.00000	25.00	70.00000	350.00	111.00000	555.00
0010 E580332 2 TREE REMOVAL (1		10.000 EA	5.00000	50.00	725.00000	7,250.00	197.00000	1,970.00
0015 E580332 2 TREE REMOVAL (2		5.000 EA	5.00000	25.00	350.00000	1,750.00	200.00000	1,000.00
0020 E580332 2 TREE REMOVAL (3		3.000 EA	5.00000	15.00	275.00000	825.00	202.00000	606.00
0025 E580332 2 TREE REMOVAL (>		3.000 EA	5.00000	15.00	400.00000	1,200.00	250.00000	750.00
0030 E580333 C		5.000 EA	5.00000	25.00	50.00000	250.00	13.56000	67.80
0035 E580333 2 STUMP REMOVAL		15.000 EA	5.00000	75.00	50.00000	750.00	186.00000	2,790.00
0040 E580333 3 STUMP REMOVAL		5.000 EA	5.00000	25.00	50.00000	250.00	186.00000	930.00





Tabulation of Bids

Page 3 of 8

Letting	j : 0622	0127 Ja	nuary 27, 20	22 Ca l	II Order: 005		Contract:	E6N93-R0		
	Line No / Item ID Alternate Quantity Item Description Units		Quantity Units		(1) T & M LAWN-FENCE SERVICE INC		(2) ALEXANDER DESIGN + BUILD, LLC		(3) JEN POWERWASH CORP	
() indi	licates item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
	SECTION: 00)01 (Т	TREE TRIMMI	NG AND REMOVA	AL (MH					
0045 PRUNIN	E580336 1 G AND TRIMMIN	G (4" TO 24")	1,500.000 EA	30.00000	45,000.00	25.00000	37,500.00	39.00000	58,500.00	
0050 PRUNIN	E580336 2 G AND TRIMMIN	G (> 24")	1,700.000 EA	10.00000	17,000.00	25.00000	42,500.00	33.00000	56,100.00	
0055 PRUNIN SHRUBS	E580336 4 G AND TRIMMIN S)	G (TREES AN	10.000 ND PM	100.00000	1,000.00	750.00000	7,500.00	875.00000	8,750.00	
0060 PRUNING SHRUBS	E580336 5 G AND TRIMMIN S)	•	000,000.000 ND SF	0.01000	10,000.00	0.05000	50,000.00	0.04000	40,000.00	
0065 PRUNIN	E580336 14 G AND TRIMMIN	G (PALMS)	1,500.000 EA	40.00000	60,000.00	16.00000	24,000.00	19.00000	28,500.00	
000	01 TREE TRIMMI REMOV	NG AND Sec AL (MH)	tion Totals:		\$133,255.00		\$174,125.00		\$200,518.80	
	c	ontract Grar	nd Totals:		\$133,255.00		\$174,125.00		200,518.80	





Tabulation of Bids

Page 4 of 8

Letting	g : 00	6220127	January 27, 20	22 Ca l	II Order: 005		Contract:	E6N93-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) T.T.C. ENVI	•	(5) BANN LANDSCA			VESTERN CTION, INC
() ind	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TREE TRIMMI	NG AND REMOVA	AL (MH				
0005 TREE R	E580332 21 REMOVAL (4" ⁻	ΓΟ 12")	5.000 EA	25.00000	125.00	250.00000	1,250.00	150.00000	750.00
0010 TREE R	E580332 22 REMOVAL (13"	TO 24")	10.000 EA	50.00000	500.00	800.00000	8,000.00	500.00000	5,000.00
0015 TREE R	E580332 23 REMOVAL (25"	TO 36")	5.000 EA	50.00000	250.00	1,250.00000	6,250.00	1,500.00000	7,500.00
0020 TREE R	E580332 24 REMOVAL (37"	TO 48")	3.000 EA	75.00000	225.00	2,000.00000	6,000.00	1,500.00000	4,500.00
0025 TREE R	E580332 25 REMOVAL (> 4	8")	3.000 EA	150.00000	450.00	1,500.00000	4,500.00	1,750.00000	5,250.00
0030 STUMP	E580333 1 REMOVAL (4	" TO 24")	5.000 EA	20.00000	100.00	250.00000	1,250.00	150.00000	750.00
0035 STUMP	E580333 2 REMOVAL (2	5" TO 48")	15.000 EA	25.00000	375.00	650.00000	9,750.00	200.00000	3,000.00
0040 STUMP	E580333 3 REMOVAL (>	48")	5.000 EA	25.00000	125.00	1,000.00000	5,000.00	250.00000	1,250.00
0045 PRUNIN	E580336 1 NG AND TRIMI	MING (4" TO 24	1,500.000 1") EA	25.00000	37,500.00	10.00000	15,000.00	55.00000	82,500.00





Tabulation of Bids

Page 5 of 8

Lettin	ıg:	06220127	January 27, 20	22 Ca l	II Order: 005		Contract:	E6N93-R0	
	e No / Item ID		e Quantity Units	(4) T.T.C. ENVI		(5) BANN LANDSCAF		• • •	VESTERN ICTION, INC
	-	bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TREE TRIMMING AND REMOVAL (MH									
0050 PRUNII	E580336 2 NG AND TRIN	MMING (> 24")	1,700.000 EA	25.00000	42,500.00	13.00000	22,100.00	65.00000	110,500.00
0055 PRUNII SHRUB		MMING (TREES	10.000 AND PM	100.00000	1,000.00	300.00000	3,000.00	2,500.00000	25,000.00
0060 PRUNII SHRUE		MMING (TREES	1,000,000.000 AND SF	0.10000	100,000.00	0.06500	65,000.00	0.08000	80,000.00
0065 PRUNII	E580336 14 NG AND TRIN	4 MMING (PALMS	1,500.000 EA	25.00000	37,500.00	50.00000	75,000.00	35.00000	52,500.00
		IMMING AND S MOVAL (MH)	Section Totals:		\$220,650.00		\$222,100.00		\$378,500.00
		Contract G	rand Totals:		\$220,650.00		\$222,100.00		378,500.00





Tabulation of Bids

Page 6 of 8

Letting	g : 0	6220127	January 27, 20	22 Ca l	l Order: 005		Contract:	E6N93-R0	
	No / Item ID Description	Alternat	e Quantity Units	(7) SFM LA SERVICE		(8) KNIGHT			
() inc	dicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TREE TRIMMII	NG AND REMOVA	AL (MH				
0005 TREE R	E580332 21 EMOVAL (4" ⁻	TO 12")	5.000 EA	235.00000	1,175.00	375.00000	1,875.00		
0010 TREE R	E580332 22 EMOVAL (13"		10.000 EA	450.00000	4,500.00	750.00000	7,500.00		
0015 TREE R	E580332 23 EMOVAL (25"		5.000 EA	700.00000	3,500.00	1,500.00000	7,500.00		
0020 TREE R	E580332 24 EMOVAL (37"		3.000 EA	900.00000	2,700.00	3,000.00000	9,000.00		
0025 TREE R	E580332 25 EMOVAL (> 4	8")	3.000 EA	1,200.00000	3,600.00	5,000.00000	15,000.00		
0030 STUMP	E580333 1 REMOVAL (4	" TO 24")	5.000 EA	140.00000	700.00	500.00000	2,500.00		
0035 STUMP	E580333 2 REMOVAL (2	5" TO 48")	15.000 EA	235.00000	3,525.00	1,000.00000	15,000.00		
0040 STUMP	E580333 3 REMOVAL (>	48")	5.000 EA	500.00000	2,500.00	1,500.00000	7,500.00		
0045 PRUNIN	E580336 1 NG AND TRIM	MING (4" TO 2	1,500.000 (4") EA	50.00000	75,000.00	225.00000	337,500.00		





Tabulation of Bids

Page 7 of 8

Lettin	g : 0	6220127	January 27, 20	22 Ca l	II Order: 005		Contract:	E6N93-R0	
	No / Item ID Description	Alternat	e Quantity Units	(7) SFM LA SERVICE		(8) KNIGHT I MANAGEMENT			
() in	dicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TREE TRIMMI	NG AND REMOVA	AL (MH				
0050 PRUNIN	E580336 2 NG AND TRIM	MING (> 24")	1,700.000 EA	100.00000	170,000.00	475.00000	807,500.00		
0055 PRUNII SHRUB		MING (TREES	10.000 AND PM	200.00000	2,000.00	7,500.00000	75,000.00		
0060 PRUNIN SHRUB		MING (TREES	1,000,000.000 AND SF	0.15000	150,000.00	0.12000	120,000.00		
0065 PRUNIN	E580336 14 NG AND TRIM	MING (PALMS	1,500.000 EA	25.00000	37,500.00	50.00000	75,000.00		
	•	MMING AND S MOVAL (MH)	Section Totals:	ı	\$456,700.00	ı	\$1,480,875.00		
		Contract G	rand Totals:		\$456,700.00		\$1,480,875.00		



02/15/2022

Tabulation of Bids

Page 8 of 8

Letting: 06220127

January 27, 2022

Call Order: 005

Contract:

E6N93-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.